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1. Correct Answer: B
Explanation: Choice B is correct because it captures the ecological importance of the
Great Barrier Reef and the urgent environmental challenges it faces, emphasizing the
role of conservation.

Distractor Explanations:

e Choice A is incorrect because it merely describes the location and size of the reef,
without addressing its ecological significance and the threats it faces.

e Choice C is incorrect as it inaccurately suggests that the reef’s importance is less
significant than the environmental challenges it faces.

e Choice D is incorrect because it misrepresents the scope of conservation efforts,
which also address climate change impacts.

2. Correct Answer: A
Explanation: Choice A is correct because it summarizes the core principle of utilitari-
anism and acknowledges both its influence and the criticism it faces regarding individual
rights.

Distractor Explanations:
e Choice B is incorrect because it underestimates the practical impact of utilitari-
anism in policy-making.

e Choice C is incorrect as it does not fully represent the theory’s principle of maxi-
mizing happiness for the majority.

e Choice D is incorrect because it inaccurately represents the primary criticism of
utilitarianism.

3. Correct Answer: D
Explanation: Choice D is correct because it accurately reflects the essence of the
'invisible hand’ as a key element of free-market capitalism and addresses the criticism
related to economic inequalities.

Distractor Explanations:
e Choice A is incorrect because it fails to fully capture the theory’s foundational
role in free-market capitalism.

e Choice B is incorrect as it underrepresents the theory’s broader significance in the
context of economic systems.
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e Choice C is incorrect because it misinterprets the primary focus of criticism re-
garding the ’invisible hand’ theory.

4. Correct Answer: D
Explanation: Choice D is correct because it encapsulates the novel’s critical exami-
nation of the American Dream and the decadence of the 1920s” upper class, which are
central themes in the book.

Distractor Explanations:

e Choice A is incorrect because it focuses too narrowly on the setting and Gatsby’s
parties, missing the novel’s broader themes.

e Choice B is incorrect as it only highlights the romantic subplot, not addressing
the novel’s thematic significance.

e Choice C is incorrect because it underestimates the importance of the novel’s
portrayal of the Roaring Twenties and the American Dream.

5. Correct Answer: B
Explanation: Choice B is correct because it comprehensively covers the major envi-
ronmental impacts of deforestation, such as habitat loss, biodiversity reduction, and
climate change, and mentions reforestation as a countermeasure.

Distractor Explanations:
e Choice A is incorrect because it incompletely represents the causes and effects of
deforestation.

e Choice C is incorrect as it downplays the significant effects of deforestation on
biodiversity and climate change.

e Choice D is incorrect because it underestimates the broader environmental impact
of deforestation.

6. Correct Answer: B
Explanation: Choice B is correct because it captures the dual nature of the gig
economy, highlighting both its benefits in terms of flexibility and entrepreneurship,
and its drawbacks related to job security and worker benefits.

Distractor Explanations:
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e Choice A is incorrect because it only focuses on the employment model without
addressing the concerns related to job security and benefits.

e Choice C is incorrect as it underestimates the gig economy’s impact on traditional
employment and worker rights.

e Choice D is incorrect because it misrepresents the scope of criticism against the
gig economy.



